
STAINLESS STEEL HANDLE LF-12

（
3

0
）

φ12

5
0

P

L 50

2×M5 Depth 10

s-lf12d01.eps

11
5°

RoHS CAD Item Code Item Name Material Finish L P Load capacity N Load capacity kgf Weight (g) Box (pcs) Carton (pcs)

100-010-520 LF-12-96
Stainless Steel 

(SUS304)
Satin

108 96

441 45

182 10 80

100-010-521 LF-12-128 140 128 211 10 60

100-010-522 LF-12-160 172 160 236 10 60

[Handle]

LF-12-160

LF-12-128

LF-12-96

[Application Example]

No worry of pinching your fingers by handles.

s-lf12d02.eps

RoHS CAD Item Code Item Name Aluminium Frame Parts Weight (g)

– 100-041-492 AS-LF-12-96-8 Groove Width 8 mm

Handle LF-12-96 : 1pc
Bracket for Handle AS-H30 : 2pcs
AS Nut AS-8M5 : 2pcs
M5×10 Hexagon Socket Countersunk Head Screw : 4pcs

–

– 100-041-493 AS-LF-12-96-10 Groove Width 10 mm

Handle LF-12-96 : 1pc
Bracket for Handle AS-H30 : 2pcs
AS Nut AS-10M5 : 2pcs
M5×10 Hexagon Socket Countersunk Head Screw : 2pcs
M5×12 Hexagon Socket Countersunk Head Screw : 2pcs

–

– 100-041-494 AS-LF-12-128-8 Groove Width 8 mm

Handle LF-12-128 : 1pc
Bracket for Handle AS-H30 : 2pcs
AS Nut AS-8M5 : 2pcs
M5×10 Hexagon Socket Countersunk Head Screw : 4pcs

–

– 100-041-495 AS-LF-12-128-10 Groove Width 10 mm

Handle LF-12-128 : 1pc
Bracket for Handle AS-H30 : 2pcs
AS Nut AS-10M5 : 2pcs
M5×10 Hexagon Socket Countersunk Head Screw : 2pcs
M5×12 Hexagon Socket Countersunk Head Screw : 2pcs

–

– 100-041-496 AS-LF-12-160-8 Groove Width 8 mm

Handle LF-12-160 : 1pc
Bracket for Handle AS-H30 : 2pcs
AS Nut AS-8M5 : 2pcs
M5×10 Hexagon Socket Countersunk Head Screw : 4pcs

–

– 100-041-497 AS-LF-12-160-10 Groove Width 10 mm

Handle LF-12-160 : 1pc
Bracket for Handle AS-H30 : 2pcs
AS Nut AS-10M5 : 2pcs
M5×10 Hexagon Socket Countersunk Head Screw : 2pcs
M5×12 Hexagon Socket Countersunk Head Screw : 2pcs

–

Refer to   : P.20,  : P.651,  : P.526

Handle

Screw

Bracket for handle

AS nut

For double door

●Angled grip for a comfortable grip.

●φ12mm stable and strong handle.

●AS parts set for installing to aluminium frame also available. Content 

of the parts set is as follows.

[Parts Included]
●Pan head screw M5×30

Parts Set  for Installing to Aluminium Frame Please refer to the series introduction page  for details about AS series.

Parts set of brackets, screws and AS nuts used for installing to aluminium frame.[AS Parts Set]

648

Industrial Component Hardware Catalogue
No.400

https://global.sugatsune.com/

Update: 07.16.2024


